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PART A

SectionId: 903201145

Section Number : 1

Section type: Online

Mandatory or Optional : Mandatory

Number of Questions : 40

Number of Questions to be attempted : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 903201170

Question Shuffling Allowed : Yes



Question Number : 1 Question Id : 90320110220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Warang Chiti script is an Indigenous writing system of which of the following language?
FE0N OB &F 02 806 8BS 2 2 ToAS &388 SO ATS0?

Options :
Santali
Hoere)

’|_ 4
Sora

5 b
2. %
Mundari
SANOTTH
3 %
Ho
L
4,

Question Number : 2 Question Id : 90320110221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who developed the OI Chiki script for Santali language?
HoTS 230 §'H0 4O D8 DD DI @850 TFH?

Options :

1.+



Pandit Raghunath Murmu
DOGE) BANTH S0

Pandit Madan Mohan Malaviya
DOGBE) NDAR TR 377238

2. ®
Gidugu Venkata Ramamurthy
- A J08L T8
Draupadi Murmu
. 1T 08 DA

Question Number : 3 Question Id : 90320110222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year Santhali was recognized as scheduled languages of India?
ST &) H055150S erESTS D era HB0DE0E?

Options :
. » 2003
L« 2004
2002
3. %
2009

4. %



Question Number : 4 Question Id : 90320110223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Duo-decimal numeral system is found in which family of languages?
¢ 5085 3-C5F0F H0FTE DTTS0 &) 27 HEN0DOS GOARIPENOSN?

Options :
Dravidian
| TPa0CH
1. % -
Munda
- SO TE®
Andamanese
€90 5T
3. %
Indo-Aryan

ROET-355Q

Question Number : 5 Question Id : 90320110224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which among the four Munda languages is the most endangered language?
18065 GTTB0NS et SN0 OS50
@000 D) 27 07

Options :



Sora

SPOr
1. W
Santhali
E{m@“@
2_ W
Gorum
aiele)
3. %
Kharia
- 8alr
4. ®

Question Number : 6 Question Id : 90320110225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following characteristic feature is native to Munda language
family?
808 OFOS DO SN0 27T HEn02rAE ToBIE?

Options :
Retroflection

O LE?SB _Tc;;}_é 5

1. %

Aspiration
OB AR



Serial verbs

VBAHS (BaHen
Glottal Stop
S oD
4.

Question Number : 7 Question Id : 90320110226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

It is, perhaps, the only remnant of ancient India language with no living
relatives (language isolate) with pre-Munda, pre-Dravidian, pre-Indo-Aryan.
|dentify the language.

o83 SNOTE, B8 (TS, J°8 5 BOEB-8EOS HEed DOCDYEN
(FBE) B HTrehed 2PEHDT  BE 2P @330 (H80d0A.

Options :

Nihali

D55
1.4

Kherwarian

DO B0
2. %

Bhumij
ANV

Asuri

SPSM] @)
4, %



Question Number : 8 Question Id : 90320110227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Twelve based numeral system is predominant in which family languages?
2 23T $0EN0D0S N0 BSOS HOWPS 353 (DTIOTP
53¢ 06?

Options :

Dravidian
(E°C8

Munda
DN OTE

Tibeto-Burman
e33E -850

Indo-Aryan
R0E-e335S

Question Number : 9 Question Id : 90320110228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person who speaks two languages is called
SO 27NEW I T 2955 DDA 90EFTR.

Options:

1. %



monolingual
D2

bilingual
ARCAS

multilingual

3 & DJIVA

polyglot
2TV 38

Question Number : 10 Question Id : 90320110229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Mark the statement which is TRUE
1800 STmIr800S R0 & ez o A 576y, ToHod

Options :

Kolami is a Central Dravidian language

570 2,8 aNEGS |TP0CS
1.+

Sanskrit is the mother of Indian languages
500 23Be3aD 2FAOE )

Mandarin is the official language of India
SP0CBN 2B TF0 BNE), H5EE 2



Tamil is the largest spoken language in India.

2T BHDFOS ehsOEOM IR 2 SHWFO.

Question Number : 11 Question Id : 90320110230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which region of the Indian Union, majority of the Dravidian languages are
spoken?
20809 CAFACHAS R & ZFOSB0ES, DBy T [T 2D

QT e dn?
Options:
North India
DS 2rHedTF0
1. %
Western India
- DP 3o 2 GeSTII0
Central India
S8 2T BedTIFO
3. %
South India
. 38 0 2840

Question Number : 12 Question Id : 90320110231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telugu is genetically related to language.
22,0 8DB0MT BEND &) 2FAS DOD00 DA G0d

Options:
Tamil
5% 0
1.4
Sanskrit
DO NED
- V00
Hindi
OO
3. %
English
005
4, %

Question Number : 13 Question Id : 90320110232 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Schedule of Indian Constitution concerned with languages is

25ed T°e060 S'@ & VTS 2PAOE 00BN,
Options :

VI



Question Number : 14 Question Id : 90320110233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The language of the Mohanjo-daro is written in.
0TS TS 27 2 ONCS |TOHDER0E.

Options :
Hieroglyphs
QIO
1. %
Brahmi
(2305}
2. %
Indus
3.¥ OGO
Nagari
4 % ~08

Question Number : 15 Question Id : 90320110234 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a feature of Tibeto-Burman languages?
806 73S E3BE-0B1Q 2O OF €0 O?

Options :
Preposition
D238 |Deb Ao
1. %
Verb-initial
2r8023-(50%-
2. %
Tonal
YN
3.¥
All
29c)) O3
4, %

Question Number : 16 Question Id : 90320110235 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indo-Aryan family of languages is a sub-branch of
R0E-e385D 2720 HEN0oDO 30 & F°W.

Options :

The Caucasian family
SPER0N® 2% S0EN0DO



The Afro-Asiatic family
&9 £-D005¢35 237 S0EN 00

2. ®
The Indo-European family
OG-0 DON® 2% 100
The Austronesian family

, RN PO WISEA RSN A e TATe)

Question Number : 17 Question Id : 90320110236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The language Urdu is genetically related to

2D 5DB0MT GAr 2770 & D0DOBODIA.
Options:
Arabic
ea¢52)8
1. W
Persian
DOODR
2.
Hindi
oS
3. %
Telugu
Send



Question Number : 18 Question Id : 90320110237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the most popular mother tongue in the world.
DNOOES ©9eh50eh [HZCIBED FOOD STeh2rAd HB0I0AH.

Options:
Hindi
206
1. %
Russian
Bad§ed
2. %
English
=
- Q005
Mandarin
P00
4,

Question Number : 19 Question Id : 90320110238 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is not a Classical language of India.
8085 GTTFO0DS T3S arBSHTFO TNE, FPODTON 2% TID.

Options :



Tamil
a0

Sanskrit

L x  V0059BO

Odia
2,Co0%"

Bengali

Bomrd)
4, &

Question Number : 20 Question Id : 90320110239 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

was the Sumerian system of writing.
DA DDOONS BT DTS0T SOTO.

Options :
ldeogram

20 &O3T(Ta0

Pictogram
DF [T

Cuneiform
SO0



Logogram
ST

Question Number : 21 Question Id : 90320110240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is one of the first states of India formed on the
basis of language before Independence?

P LH0[ERE SN0 2FESTIOS 2Tl [TPBIEES SIS
TEFOS 808 73S & InEE?

Options :
QOdisha
2,607

1.

Assam

- e )O
Karnataka

3 SIORALS!

Madhya Pradesh
DD

Question Number : 22 Question Id : 90320110241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dravidian languages are
oS8P0 SOTT |T)CH 2%

Options:
Isolating

. SDADGO
Inflexional
MR B

2. % '
Agglutinative
e HeE3TE3D

3.¥ *
Polysynthetic
V0 E3S

4, %

Question Number : 23 Question Id : 90320110242 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the author of the famous book ‘Biological Foundations of Language'?
AArerREO FOTA &5 P05 OF (DNE )R Grioned DdS?

Options :

Eric Lenneberg
285 BIJ) B0



Noam Chomsky
NESVERPAVRS
®

2.

Pavlov
S
3. W
Mark Arnoff
5Dy e85
4. %

Question Number : 24 Question Id : 90320110243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

is considered to be Diglossic among the four major Dravidian
Indian languages.

18063 STTB0DS & enth (G ([ erioS &R oS
20130 DGI 2 DO,

Options :
Malayalam

. OO FO
1.

Kannada
Ea0) C8

Tamil
€50



Telugu
SN

Question Number : 25 Question Id : 90320110244 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who proposed the concept of ‘India as a Sociolinguistic Area’?
2PEBDI0 2,8 TI23E 2L [TPOH0" @R 29D oI
(€3O 0T ?

Options :

M.B. Emeneau
7 04 T

1. W
P.B. Pandit
2.2). HoHE
2. %
Collin P Macika
5D 2 oDST
3. v
J.K. Chambers
B.5. 000
4, %

Question Number : 26 Question Id : 90320110245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Abbreviations that are formed from the initial letters of a set of words are
called as

DT DN TEY, (G025 @8 T OB JEIT W08 e

©0tr.
Options:
Acronym
D50
1.¢ =
Metonym
RATAR OSSN
2. %
Synonym
lop{nV\ M nle
3. ®
Metonym
ETA
4, %

Question Number : 27 Question Id : 90320110246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Coining of totally new words in a language is known as.
2,5 27AS AT 568 AT SrEFoHONTR) 90ErM.

Options :
Creation
Qo

1. %

2. &



Neologism
QAIPeT22220

Coining

STON0N
3. 3

Compounding

pw  Qa0FS0

Question Number : 28 Question Id : 90320110247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the Dravidian language that is spoken in Pakistan?
%1800 T3S FETSS SrerT (e 2D HB00G?

Options :

Dhangar
nlelsle)

Kisan
ST

Brahui

FARSIVOW
3.9

Kurukh
MoV



Question Number : 29 Question Id : 90320110248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Words formed by imitating natural sounds are called
DT $270eD @ DEB0IB0 T 50° OB DTN
@0Er

Options :

Onomatopoeic words
23 e oS DHoren

Reduplicated words
BCar§eISE) HTEEeW

2. %
Loan words
B DTTPEN
3., %
Calque words
5D DTTEN
4, %

Question Number : 30 Question Id : 90320110249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The International Mother Language day is observed on !
9OBT BN PSP OSE YT & 2BHB0ERS.

Options :



2| st February

21 (2208
1. %
21st December
21 &S00
2. S
2lst March
21 233°8)
3.
21st October
, 21 9525

Question Number : 31 Question Id : 90320110250 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the official language of the union territory Lakshadweep?
50185 e (rod S 8 & sare) BwE) @HSY 27 DO

Options :
Malayalam
DO OTE O
1. %
Tamil
S0
2. %
English
002



Sinhala
e >Te)

Question Number : 32 Question Id : 90320110251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the author of the famous book 'The Divine Comedy'?
"% BR® ST T DV YNE SO0 DaISH?

Options :
Dante
FHOYA
1. %
Virgil
S80S
2. %
Sophocles
- 8D )
Homer
. PALVNATS

Question Number : 33 Question Id : 90320110252 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Who is the author of 2022's most immersive debut novel ‘Moonlight and the
Pearler's Daughter?

20225’ €9¢h3068 (D2 TrBE PO S0 'SrdBE) @0k & W6
REAIONOINOWEINNIOVY;

Options :

John Brown
2 (257

1. %

Lizzie Pook
2.0 OB IS

Jennifer Egan
2AYDD DR

Elif Batuman

NI AFATAVNS
4. %

Question Number : 34 Question Id : 90320110253 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

My flight departs 5.00am.
T DATI0  ECI0N0 5.00 (fokyed 2090 DO,
Options :
By
i i
1. %



In

S
At
e
3. ¢
On
B3
4, %

Question Number : 35 Question Id : 90320110254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If | am in London, | contact you.
Qo) 5 OO0 W@ 0B SHOTAL SO WY
Options :
Might
06
1. %
May
0
2. %
Would
3. % d&
Will
DO



Question Number : 36 Question Id : 90320110255 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shankar Narayana.
3050 TrTradead.

Options:
| am
NI
1.4
Myself
, x O
Myself | am
Do 0D
3, #
I Myself
, P Vo

Question Number : 37 Question Id : 90320110256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following has correct spelling?
808 73S DB YD EDRS HE0 DE?



Options :

Pneumonia

A BP0
1.4

Neumonia

ST
2. %

Numonia

D 3O
3_ 4

Numonie

DBTD
4, %

Question Number : 38 Question Id : 90320110257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The word Tsunami is derived from ;
DD 9T D0 &) 27 DOG &AINODOE.

Options :
Greek
%0
1. %
Latin
3
2. %



French

N eIN
Japanese
BHRD

4. ¥

Question Number : 39 Question Id : 90320110258 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Paremiology is the study of

TODOTreE OTE A&} e9¢H500M0.
Options :
Proverbs
S Es e
1. ¢
Satires
DR
2. % :
Mockery
9)ar* 5O
Humour
N T{e
4, %

Question Number : 40 Question Id : 90320110259 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

\Vandemataram is originally written in language?
SOTATBB0 B0CHE 2SS (TADDBOH?

Options :

Bengali
Sormrd)

Sanskrit
QO S0

Pali
)

Sanskritifed Bengali
QO )e3EB0TID G Fomrd

PART B

Section Id : 903201146
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 7

Number of Questions to be attempted : 7

Section Marks : 60



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 903201171
Question Shuffling Allowed : No

Question Id : 90320110260 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (41 to 50)

Question Label : Comprehension

Observe the following data from Juray language of Sora group of South Munda
Languages and answer the following questions .

38 £ SNOT 2PN AT D BN o7 & (808 GO0 BEFd

B0 () O AIPTTI0) JRIS0E.

jaga ‘black’, ke7e ‘white’

adf NN Zo)?0) 'BeNs)'

ulu red’ i ‘like sky blue’
eNEN ATRY e g5y Q00 T
sansan-gayir ‘turmeric yellow’  sansan-ol ‘leafy green’.

SORDORHAE DY I0Y  Sohdof-4S ey HY.

jarga ‘less black’ armen-ol ‘less-leafy green’
ah ‘5030 dE0aY  0DGI0N 4O '8 88 D))
menda 'sheep' mara 'mayur’

ol |5 e 'Qohrd!

ati ‘elephant’ bontel '‘buffalo’

©e) PNV Foh 89 il



u?ba-men
A A By

u?ba-mar

2,72)-000

u?ba-at
2,72)-29¢%

u?ba-bon
2,70-&0h

kanpun
gadyoh

bulu
200

bo
)

bagu
AN

'male sheep’
a0 f1Bew’

'peacock’

a0 Dodoe)'
'male elephant’
00§ e
'male buffalo’

AViliial

‘stomach’
Ié(ﬁ);&}'
thigh’
|§Cér
‘one’
‘2,563

aiji-men 'female Sheep'
2300000 ‘esch FrIBeN'
aiji-mar 'peahen’
e300-a00 ‘8905 Do)’
aiji-at female elephant’
e30N-e3 'e3¢h e
aiji-bon ‘female buffalo'
eon-50h '@ NE
kenpun-en-dzi  ‘stomachs’
5e0)0N - Q-2 '§chyen'
bulu-n-d3 thighs’
206D -0-23 'Sehen’
manra ‘man’

| PV
kamedan ‘goat’
TR DE'



jagi ‘three’ aji-mar ‘woman’
2 'SR SON-1°0 'Lﬁg'

kuri ‘twenty sua ‘hundred’
08 Pl 2 '90¢Y
doso ‘ten’ to ‘year
AN PATAY & '00ed 50"
bokuridoso ‘thirty’ angai ‘month’
500 S PSR @0 [’
palli ‘week’ mijed ‘last’

HO) T80 DOHE 050"
aken this’ ati that’
950 g 9e3 'R’

do ‘and’ pasid3-en ‘child’

& PVe[0\WY DB R-R pAle)

Sub questions

Question Number : 41 Question Id : 90320110261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How Juray people make the word for less colour?
2POOD 353N 65020 SOMHD QIrDOBTEAE der DEEd?

Options :

Infixation
v €5T0°) §0e0)) T°50°

insertion

. W D00 T 50T
2.



prefixing
GG o soe

Suffixing

D€550D0 T 50°
4. %

Question Number : 42 Question Id : 90320110262 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the word for less in Juray ianguagg'?
2B0D 27AS 508 OF D) BAS AT K?

Options:
-ar-
—95-
1. %
L
e
2. %
-ar-/-r-
, o ~®54-5-
—arr-
_@LE_
4, % -

Question Number : 43 Question Id : 90320110263 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

How to create a word for that week?
3 FPTVE DTV, DT NP 0TTE)?

Options :
atpalli
atipalli

He)

- €3e35¢)
apalli
9HE)

3. % "
tapalli
DD

4, % a

Question Number : 44 Question Id : 90320110264 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for seventy in Juray?
22000 5 B23)8 D0 DWE3?

Options :
jakuri-doso
oDBG &R

1.4

jagkuri-doso
ODMNLG &R

2. %



jagikuri-doso
ONA%E &

tinkuri-doso

. w B0o5HG S

Question Number : 45 Question Id : 90320110265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the word for year is —to, what would be the word for last year?
005653778 0D0HODN D0 — & ONS, (169 0I5 JTVE
H50220HODS D0 DNe3?

Options:

Mijedto
DOHE

Mijento
OO

Mijedo
O ES

Mijedt
MoH&

Question Number : 46 Question Id : 90320110266 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What is the word for male and female in Juray?
2BOD S i HBAM €3¢ BOBK) ATFAOVTE T3 HITeN
Dae3?

Options :

u?bha and aiji
2,72 SDBA esod

manra and aiji
, % SO DGO e30D

u?ba and mar
2,723 0B Hb

uba and aiy
2,72) O escd

Question Number : 47 Question Id : 90320110267 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for male goat?
015 DEB D0 DE3?

Options :

u?bakamed
&85

u?bakamedan

L o CTOEDES



u?bakam

3 x G750

dubkamedan
CH2D) DCERD

Question Number : 48 Question Id : 90320110268 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If man is manra. what would be the word for men?
DA N[FD° BOANE, sDDDOEDE0 DE3?

Options :

manraanq;@i
o °023

manran;l:?i
o[ 5022

manand;i
o022

manan anq:?i
% o0

Question Number : 49 Question Id : 90320110269 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How to say man and woman in Juray?
B0 S R DOAN SV 9 dew Tar)d?

Options :

mar-do-manra
N0 & NS

1. %

ma-do-mar

w o
, % o0& N0

manra-do-mar
N & 00

ma-do-ma

- HED
4. %

Question Number : 50 Question Id : 90320110270 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How to say less red in Juray?
2°BOD S $5035 DD @9 e Tar )"

Options :

larulu

O EED
1. %



luarlu
eNRIDEEEN

luluar

eneNed
3. %

ularl

4 x TOOD

Sub-Section Number : 2
Sub-Section Id : 903201172

Question Shuffling Allowed : No

Question Id : 90320110271 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time: 0
Question Numbers : (51 to 60)
Question Label : Comprehension

Examine the following words from Aztec, a language spoken in South Western
Mexico and answer the questions.

TS I DEITS SrrT o 0w ©E5 H0A 808 HTed
D030 (%) 05 TP STEOMT NSFES0 B304,

1. [nqkali] 'my house' 5. [mopelo] 'your dog’
[S%)] T 5N’ [FFS] ' HE)’
2. [nokalimes] 'my houses' 6. [mopelomes]  'your dogs'
[S50) V] ‘7 aghy’ S D] D S en’
3. [mokali] 'your house' 7. [nokwahmili] 'my cornfield’
F0gd] ey [S52670] ' EHES) o’
4. [ikali] 'his house' 8. [mokwahmili] 'your cornfield’

[2%O)] 'e95) HEY [Fderand)] ') E TN oo



Sub questions

Question Number : 51 Question Id : 90320110272 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the word for 'cornfield' in Aztec?
ZES ‘B D' 9T DI T A7¢) DEI?

Options :

okwahmili
A2 sy, =

P S RTSRAMD)
wahmili
e 26)

2. % i
kwahmili

3. ¢ =
kwah

4, %

Question Number : 52 Question Id : 90320110273 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for "dogs"?
"S082E0" R DTVE T S8 daDe3?

Options :



mopelomes
S DD

pelomes
S D

mespelo

i 5
- DO

pelos

SR
4. %

Question Number : 53 Question Id : 90320110274 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for 'your'?
D' O D8 T I DaeS?

Options :
mo
0°
1.+
mok
305
2. %
mop
e
3. %



mokw
A58

Question Number : 54 Question Id : 90320110275 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Translate "my dog" into Aztec.
n n L . "'E i, Sl
° 508" @ Hr)) @3558 @0 SH0N0A.
Options:

nopelo

TS

pelono
—. b
® &]L?E)CSG

ipelono
DRSS’

nopelomes

S
ATSYNN

Question Number : 55 Question Id : 90320110276 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Translate the Aztec word "ikwahmili" into English.
@8 HC50 " @857 " 0058 @ HIB0B0A.



Options :

cornfield
205N FOo

1. ®

my com field
O° B3NS T Q) O

your cornfields
D DEpESH) Feren

3.

his cornfield

€965 BNEYE V) PO
4.9

Question Number : 56 Question Id : 90320110277 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Translate the Aztec word "nopelomes” into English.
29B5 D0 "TS DV "D 3000 § 9500V 0A.

Options:

my dog
° 5085,

1. %

my dogs

o So8en
2.9



his dog

@65 B0y
3. %

his dogs
@ed) 505 .60

Question Number : 57 Question Id : 90320110278 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Translate the Aztec word "mokalimes” into English.
eBF HC0 " INEODD "D 80B0SE @ DHIOOB0A.

Options :

my house's
o° Q0ES

my houses
0 Q%Y

your house's

, M Q063
your houses
D 209

4, &

Question Number : 58 Question Id : 90320110279 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The plural marker in Aztec is
& (808 ¢3S DO FES 22505 555755

Options :
imes
A
1. %
omes
230
2. %
-mes
i
3 @ -
-es
N
4, ®

Question Number : 59 Question Id : 90320110280 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Translate "your cornfields" into Aztec.
"B 5199 1'D 9FES’8 90O 0H0A.

Options :
mokwahmilimes
JNE §o 2T
1.4

nokwahmilimes

S 52O
2. ®



mokwahmili

08 gor28)
3. %

Nokwahmili

. D S 5ar2e)

Question Number : 60 Question Id : 90320110281 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If the Aztec word for "friend” is "mahkwa", then "my friends" is

TD)LAPEE" O HITAE @FF S "0 5" ©ONS, "I D) arehen” §
2 378) D NOH?

Options :
mahkwas
3)a38) $0
1. 3
nomahkwames
AT 35 a F
5 % rSSaDqu{roszn}
nomahkwa
. S0 ¢
momahkwames
RUNVPOOEFR R
4,

Sub-Section Number : 3



Sub-Section Id : 903201173

Question Shuffling Allowed : No

Question Id : 90320110282 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (61 to 70)

Question Label : Comprehension

Observe the following data from Ollari Gadaba a Central Dravidian language and
answer all the questions.

698 [T ZFPAOS R 2,678 fche) 5 ToAS &1 1800 Berad (o)

23] 05 ePTTI0 B S0,

a:norgunsendranoren
830 20 VO B T

a:morgunsendra:inorem
80 2% VOTO JTo

inorgunsendra:inoreg
A0 DR VTO STE

imorgunsendra:inorer
20 28R VOO ST

o:ndorgunsendra:lnorend
2,08 200 VOO STok

o:rorgunsendra:inorer
20 2R VoTO ST

a:dorgunsendra:lnorete
36 20 VOTO STV

‘| washed the cloth yesterday’
D ) D) sy’

‘we washed the clothes yesterday’
020 Aed) 260N G

'you (Sg.) washed the clothes yesterday’
' D)5 (Sg.) Ay BEN eIy

‘you (PI.) washed the clothes yesterday’
DG (2.) A, AL GRS

‘he washed the clothes yesterday’
@9 D) DEEN cedsed)

they (Male)washed the clothes yesterday’
B ), DOEN eI

'she washed the clothes yesterday’
&3 A e GeISod



a:vorgunsendra:lnorefev ‘they (Female) washed the clothes yesterday’

82 200 VOTO STV T eTR) A DEEN GAT
a:n buta:ltinba:munsuden ‘| saw a snake in the bushes’

850 2DEFO B 2FIN0N DT 8 S T80 ArFedd

enig bufa:ltinba:munsudete ‘elephant saw a snake in the bushes'
DB 20erS BS rSnof FD D FES Fesed Br0d

o:ndka:tpoita:nodudand ‘he is sleeping on the cot

2,06 58 Sam whdob '@6hed) D00 N JSFehT) '
o:rka:f poita:n odudar they (Male)is sleeping on the cot

2.0 §8) @ w3 ' (306) D00 NS BT &
a.dko:tpoita:noduda ‘'she is sleeping on the cot’

a8 e i ') SO0 N A0
a:vka:tpoita:n odudav they (Female) is sleeping on the cot’

85 FETYITS 2,00 T8 (€3¢8) 0190 DS OV !
werigko:fpoita:noduda ‘cat is sleeping on the cot’

360 § ST 2 DS 0190 NS A SR

Sub questions

Question Number : 61 Question Id : 90320110283 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for | in Ollari Gadaba?
2,578 (1565 DD O I8 T S DE3?

Options :

(=

e
1.¢

dan
9



am
@0

a.m
@0

Question Number : 62 Question Id : 90320110284 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for he in Ollari Gadaba”
2,598 K55S 965D R D8 7B 3578 DAEI?

Options:
o:nd
1 2,05
ond
2,06
2. %
-nd
:Z:-'D&'
3. %
o:nd
2,08
4. %

Question Number : 63 Question Id : 90320110285 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

How past tense is represented?
2,598 11523 tied 573D &) NSO [P0 S D

Options :
-g-
.,
1.+
-€n
SIS
2. %
-em
-)O
3., %
a1
1.2 O

Question Number : 64 Question Id : 90320110286 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the marker for present continuous tense in Ollari Gadaba?
2,67°8 11565 5G5S DB0eHS 52078 33085 DE3?

Options :
-da
-0
1.¢



-uda

Question Number : 65 Question Id : 90320110287 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The accusative case marker /-n/ is attached to in Ollari Gadaba?
2,678 Hi5ereS @83 S ) 5l20fIR) & Shoddod?

Options :

Nouns

e TS50
1.4

Verbs
1Sadhe>s

Preposition

D238 Deb 50

Adverbs

1803 DBAT 8
4. %



Question Number : 66 Question Id : 90320110288 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the locative case marker in Ollari Gadaba?
2,78 ffedS STBE3S B 57830 Da0e3?

Options:
-tn
--D_%;
’|_ F
-tun
NS
2. ®
-tin
-89
3.+
-ten
- B
4, %

Question Number : 67 Question Id : 90320110289 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the plural marker?
2,838 2SS 257059 57825 De3?



Options :

-ta:l
O
1, %
-a:l
3
2_ 4
-al
90
3_ 4
|
-6
4.

Question Number : 68 Question Id : 90320110290 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the word for cat in the given language?
DS 2PAS DO @ DD T 76 DMEI?

Options:
Weri
20

1. %
werigko
lelap



werig
=360

werigk
360
4, %

Question Number : 69 Question Id : 90320110291 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the word for wash is /nor/, what would be the word for see?
T O DTV 5D/ oS, LD O R ITRE B ) aE3?

Options :
sud
NV
1.¢
ud
&5
2. %
sq
Q
3. %
sude
D33
4, %

Question Number : 70 Question Id : 90320110292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How the time adverh yesterday is represented in Ollari Gadaba?
2,678 (1506 Q65163 909 (B05T DFNEI0R der TrD0DEER0E?

Options :
guns
D)
‘|. e
org
§.0
2. % '
orgun
20
3. v
norgun
SO
4, %
Sub-Section Number : 4
Sub-Section Id : 903201174
Question Shuffling Allowed : No

Question Id : 90320110293 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (71 to 75)

Question Label : Comprehension



Observe the data from Swahili language spoken in West African coast and
Litoral islands and answer the questions.

D20 S5 606 o) DEUS BYOS SHEPT 7r 57O e By BErad
HaDQ0) [2%)08) AP0 Bed 0GR,

Singular Gloss Singular  Gloss

AEINAING ff?o RENTAING ff?a

ubao ‘plank’ mbao ‘planks’

AN P05 02 HOden

ubawa ‘wing’ mbawa ‘wings’

AT Do’ ) BE 0’

udevu ‘facial hair ndevu facial hairs'

G 0D J0[EnE 9 309 Foengen'

ugava ‘net’ ngava ‘nets’

57T [ NN ANSTOW

ugwe ‘string’ ngwe ‘strings’

¢T1 8 ' N ‘ifen

uwati ‘hut pole’ mbati ‘hut poles’

Goat3 WAV Qo' A HED Qoarey'
uwanda ‘open place’ mbanda ‘open places’
€5a00Ch D30 Q0" D)o@ "ardolf gere'
uwingu ‘heaven’ mbingu ‘heavens’
&0 pYiele} 200 PNN{OR N

Sub questions

Question Number : 71 Question Id : 90320110294 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

How number is represented in Swabhili?
227 OS HoS Der SO0 ?



Options :

Qvertly
dardonorr
1.¢
Covertly
B SO
2. %
Affixing
- ®e3809¢0
3. %
Insertion
W)OWNGO
4, %

Question Number : 72 Question Id : 90320110295 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many variations can be observed for a plural marker in Swahili?
P sorOS 25T 57835 §R0 Q) BATEOD HodROISTD)?
Options:

Two
lsle]xY

One
2,8¢3



Three

ST C)
Four
. e ND

Question Number : 73 Question Id : 90320110296 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Change of plural forms in Swahili is based on criterion.
AP 2ePOS Q) 2TV EFaren DSTE0 STEOM
o0°DEN ) 0.

Options :

Sporadic
€90 )Cha) ) C

Sounding
G 50VEd

Manner of articulation
&0 )06 D3

3. %
Place of articulation
&0 )56 QOO0
4,

Question Number : 74 Question Id : 90320110297 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Swahili is type of language.
D Sare) 9O S50 2.
Options :

Consonant ending language
e & SNA0T 27N

Vowel ending language
@D & AA0T 2rA

Syllable ending language
0¥ B0 & SNB0T 2N

Consonant as well as vowel ending language

SFENS 2D €9t & D SHA0D 27N

Question Number : 75 Question Id : 90320110298 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The initial two consonant segments in plural words forms i.e. mb-, nd-, and ng-
are called as

JTOS G025 BO TN DT &S mb-, nd- HEAM Ng-Oed
@0ECD.

Options :

1.+



Clusters
$20)

Geminations
BVAR.)

Clusto-geminations
EEP-Ba o)

3. =

Germinations

90505 eh 3
4, %
Sub-Section Number : 5
Sub-Section Id : 903201175
Question Shuffling Allowed : No

Question Id : 90320110299 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time: 0

Question Numbers : (76 to 80)

Question Label : Comprehension



Observe the underlying forms and realised forms from Sanskrit and Prakrit
and answer the questions.

D090 DO (2FEY0 D0 0B EFaren [HFODS Erared
B0 (29,050 DITFT0 B SO

1. agni agai fire'
i) el 'eofi)’
2. anta anta ‘internal’
®08) ®08) '@0e5(Jed
3. anka antka lap’
NG DINES 20
4. arka akka 'sun’
ep) ©f) ' §C’
5. bhakti bhatti ‘devotion’
A 258 38
6. catwari chatta:ri four’
N &8 ENEOVN)
7. kalp kappa ‘tree’
5€))000 ) ER{AVY
8. mudgara muggara ‘red colour’
AW ale) 008 ') SO’
9. rudra rudda ‘aggressiveness’
S8 HT" 'CArBu R’
10. sabda sadda ‘sound’
CIN cloy '3
11. vikrama vikkama ‘winner’
R e DEYD ‘D6
12. supta sutta ‘sleeping condition’
209 ¢ DBFTD HEVE'

Sub questions



Question Number : 76 Question Id : 90320110300 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the major morphophonemic change i.e. taking place in the data?
GEreSS 2Hed) (D6 I8 )PFTDS S D0ES?

Options :

Amelioration
oMVl

Assimilation
EO VIS0

Dissimilation
€9 ) oI 0 €D

Metathesis
€9TN)) o) )

Question Number : 77 Question Id : 90320110301 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How the sounds in the underlying forms of 1, 6, 9, and 11 are influenced?

1,6,9 0005 11 TBwE), 080 SFarS D F2ren der
(22T FT0N?

Options :



Left to right
2)Cho) A0 B0GS

1.4
Right to left
505 D0 oD
2. %
Mutual
NGB0
3. W
Internal
@0edOeh
4. %

Question Number : 78 Question Id : 90320110302 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The change that is taking place in underlying and realized forms of 4, 5, 7, 8,
10,and 12 is .

4,5,7,8,10 H005 12 G30%) @08 ErareS 28iHend) Srih)
D3 ?

Options :

cluster to germination

v N0 60 ZIAR

gemination to cluster
B0 tn E0
2. %



mutual influence
DG JE |DH2FH0

external influence
23°0°5 (2027000
4, %

Question Number : 79 Question Id : 90320110303 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why there is no change in underlying forms and realized forms of 3 and 4?
3 605 4 TBE) @003 HBOK 2arsrs Erare)s JohHd Srth)
BSh?

Options :

both —nt- and — nvk- are homorganic phonemes
BOCET -2063- SNBOR - Y- T ITFT°RS §F0eN

1.¢
both —nt- and — nvk- are non-homorganic phonemes
BOC® ©0S- NDAA -Q)- V- U TS SFD0e0
2. %
both —nt- and — nvk- are fozilized phonemes
L, 0OCHT-c08- 5805w Q) - DRTP STe0en
both —nt- and — nvk- are not influenced each other
SO -c0- LDBO - - 2.8TVEEES D270 5%
4, %

Question Number : 80 Question Id : 90320110304 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The consonant sequences -tt-, -dd-, -gg-, -kk-, are linguistically called as

SFENO (FENBI-8E-, -iif-, -€&-, -Cich-, ) 2FEIGOTT ©Q)
DENTA.

Options :
Dissimilates
90T’ o°CNE)

1. %

Geminates

AT ;jel?_tjg @3
2.9

Compounds
D reD

Clusters
5%

Sub-Section Number : 6
Sub-Section Id : 903201176

Question Shuffling Allowed : No

Question Id : 90320110305 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (81 to 90)

Question Label : Comprehension



Observe the data from Yerukala language which is an oral and unclassified

language of Dravidian family of languages and answer all the questions.
1559 270 50600278 TOON STDE O SOEB0IR 27 @0
THEHE 27 NOG TEFRD HaDAOD )R, [H) O NTTTI0 B S0B.

Singular  Plural Gloss Singular  Plural Gloss
DEIVN0  DIVSIN0 R V0 DIVIIN0 BR

pe:to peitomarru ‘grandson’ petfi peitimaru  ‘granddaughter
O AP VO N VNN T A S T B ANV BN VNS (0 OV
dantaga:nu  dantaga:rru ‘friend' monuvu monuvurru 'king'

GOOTD  GOLTE )TN VD) DY D T

ulugadu ulugazye  ‘muslim 'tannikordu tanniko:ra:ye ‘brahmin’
GOOME)  GEOTOD W0 'BED )5 oadh |y

neram neranga  ‘nerve' addam addanga  'mirror’
380 Bfelo VR Q0 odor  '©d0’
ma:du maduga ‘cow' kunju kunjuga  'bird
SR SR sy 002y Sozmr ‘D!
na:nu nanga ¥ ni:nu ninga 'you'

o) Sorr T A dof ' g

:rka i:rkalu liver’ erka erkalu finger’
&5y, Sathyen THON0' B A0 'Few'

sed| sede ‘tree’ egi ege ‘way'
Qe W3R PRI Al Al Ayele)
korgo korganga  ‘monkey’  narsigo narsiganga ‘fox’
50 som 'Sy SO NN eI X

Sub questions

Question Number : 81 Question Id : 90320110306 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

How many plural markers are can be identified in the data?
BEFS D) DTVIDS 370825 ) tH OIS Y?

Options :

3
1. %

5
2. %

4
3. %

g
4.

Question Number : 82 Question Id : 90320110307 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[-0/ in | pe:to/ and /=i/ in /pe:ti/ reflects

 peitol &' J-of SHEA in fpectil ¢ Q [De32)0LY)T™) O.
Options :
Number
QO
1. %
Gender
Dlelsle)



Person

58
3. W
Loction
10D F o0
4, %

Question Number : 83 Question Id : 90320110308 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[-0/ in / korga/ and /narsigo/ changes to ,
-0/ in! 8§ [ 0805 1 S8/ § e od.

Options :

high vowel
e ol A5

back vowel
EJ”g Eu?)rﬁ

central vowel
VOO 2L,TO

low vowel
S 3O



Question Number : 84 Question Id : 90320110309 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which words | — e?
D eSS DR M Sr00H7?

Options :
animate
22500
1. %
iInanimate
DI
2. %
Masculine
a0 02200
3. 4
non-masculine
DA H0200 52
4, ®

Question Number : 85 Question Id : 90320110310 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

When the plural marker /-ga/ is added to personal pronoun, what linguistic
change taken place?

55581965 DE 5770080 257065 S38x.0 - SA0DDAND I, o
2%F D) BBHe0dH?
Options :

1.4



vowel deletion
) Sefo)

vowel merge
et DO S0

2. ®
vowe!l addition
th ) SHBoD

3. %
consonant addition
TN DHOK

4, % '

Question Number : 86 Question Id : 90320110311 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the plural marker used for kinship terms?
2060 ¢ DT CITITAOT DTV 35320 Dane3?
Options :
ma:ru

ad
- o

maru



ru

Question Number : 87 Question Id : 90320110312 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the process taken in the words /ulugadu/ and /tannikordu/ when the
plural marker /a:ye/ is added.

Jese0PER/ DA 1650 T/ DB 225309t 380 /estd/
SRS I 2 (8D BSHHOE

Options:

third person singular marker is replaced by third person plural marker
0753 958 BTN 833°833.5 ScheS 6958 20TV 808

2380 DoHaBoA
1.
just deletion of third person singular marker
SI°CHaY 358 DBHTHS 580 TBnE), Ao
2. %
just addition of plural marker
@ISO 2TV 378520 D e
3. %
both addition and deletion of plural marker
. 230 G20 D e NG Ao Boddr

Question Number : 88 Question Id : 90320110313 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In which words, the final consonant /m/ — /n/ before the plural marker is
added?

2530658565 233835 SROIAT 500D @ DETOS, DI STV Im/—/n/ T
NWelelaY

Options :
nerve and mirror
0° DB @O0
1.¢
i and you
. T DBA S
2.
bird and king
DE OO Tre
3. %
cow and monkey
e35) oDOAW 53
4, %

Question Number : 89 Question Id : 90320110314 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the plural markers of Yerukala is similar to that of Telugu adverbial
marker?

THED T0E, TS HHOS O Beih 1§AST D30 555
& DTS GoN0H?

Options :



-5
2. ¥
-2
3 x B
=I'ru
-
4. ®

Question Number : 90 Question Id : 90320110315 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the above data, how many words undergo change when the plural marker
is added?

2 BEFS, 25059 SrE0 SB0oTIESYI ), HTTeN st )E
S Sarow?

Options :

2



Sub-Section Number : 7
Sub-Section Id : 903201177

Question Shuffling Allowed : No

Question Id : 90320110316 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (91 to 100)
Question Label : Comprehension
Study the following Hebrew data and answer the following questions:
T 2T TEPA) 9350590 TR K8 (806 9908 TR j08:

higati i arrived’ higata 'you (masc.) arrived’
Syiies TODOHTD i ' (TR ST

higat ‘you (fem.) arrived’ higanu ‘we arrived’

iSO (R ST TS o Sk

higatem  “you(masc.pl.)arrived”  higaten “you (fem.pl.) arrived’
B "0 (masc.pl) ST eFABS "0 (fem.pl) ST "

lamadeti I studied’ lamadeta  ‘you (masc.) studied’
OB T DDIDTD BT ' (3RY.) VYGRS

lamadet  ‘you (fem.) studied’ lamadenu  ‘we studied’
B DG (|Q) DEDHNTLD ODTD el HeeYHTO"

lamatem  “you (masc.pl.) studied  lamaten  “you (fem.pl.) studied’
B "D (i) )R8 eRBS " (D.a)..) S &

raiti i saw’ raita 'you (masc.) saw’
o) T rRr' o D (S707.) SPRrd



rait
O@_E_%

raitem
Q@i}

siprati
e

siprati

sipratem
2B

'you (fem.) saw’ rainu
D () FTFE B

“you (masc.pl.) saw’ raiten
"D (07.8). TR BB
| told’ siprata
e Ty’ A
'you (fem.) told’ sipranu

DO (TR D

“you (masc.pl.) told’ sipraten
"D (B0 ToF YD VDB

Sub questions

‘we saw’
ANWEAINNY

“you (fem.pl.) saw’
"D (.8 LT

'you (masc.) told’
DA (A7) T

‘we told’
e IRFUARMWY

“you (fem.pl.) told’
"D (I.0).) TF '

Question Number : 91 Question Id : 90320110317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The morpheme for “second person feminine plural” is

"BOChS 358 TEY (RO 2057050 & 5EFH0 DE?

Options :

—ten

B

2. ¢

~tem

B
3. %



Question Number : 92 Question Id : 90320110318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The form for arrived is .
3D O D8 B3rE) 577 DES

Options :
rai-
D-
1. %
—hi
2_ e
3. % ot
—higa
SSPTT
4.

Question Number : 93 Question Id : 90320110319 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The form for the first person plural is
S0EE3 5358 25030 BNEY B0 Dade3?

Options :
Sipar
a0

1. %

-nu
NN

2.

—ta
-¢b

3. %

-higa
- T
4, %

Question Number : 94 Question Id : 90320110320 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The form —ti indicates :
I—til 9T 37rH0 TAD AFFDNOE?

Options :
Saw
T°CHCH0
1. %
Told
0RO



Studied

. 20
arrived
. w DS o

Question Number : 95 Question Id : 90320110321 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the form second person singular masculine
B0CHsd 6388 ABNE) DB DM BFHO DaNeE3?

Options:
—t
-
1. %
-ten
- B
2. %
-ta
-e%°
3.¢¥
—d
-9
4, %

Question Number : 96 Question Id : 90320110322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the meaning of the form sipra?
D ErH0 ABwEY G0 dWES?

Options:
Saw
T CACR0
’|_ W
Arrived
DEESG0
2_ W
Studied
D0
3_ W
Told
D)0
4,

Question Number : 97 Question Id : 90320110323 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the Hebrew form for the past form studied?
31 200° BrD0 3BT R DTS D37 D0 DE?

Options :

lam

€I



lamade

SNV ]
2. %
lamda
YO0
3. % -
lamte
CI) €D
4. ®

Question Number : 98 Question Id : 90320110324 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the meaning of rai?
D ©0T) D0e3?

Options:

feminine singular
(OO0 DESHS0

feminine plural
1R Do 2253035950

Saw

i

Studied

R s
4, %



Question Number : 99 Question Id : 90320110325 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the morpheme for second person masculine plural?
B3OS 5558 TBE) 22TV HHAETI0 D E3?

Options :
-ti
1. F
-ta
-9
2. %
-tem
-Bo)
3. F
-ten
B
4.

Question Number : 100 Question Id : 90320110326 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the Hebrew form for second person feminine?
BOChsd 958 V8 Sr(200° Erd0 DeE3?

Options :



1. ¢
-ta
2. % -
-nu
-
3. %
-ten
-8



